Equal 9 step grey scaling betweeb* g;n=23.6 andL*yav=95.5, Yoret=0.9, normalisation greyU

L*0an=23.6,L%0a=59.6,L* 0aw=95.5, Yoan=3-6, Yoa = 30.3, Yoan=90.0,Coay=Yoaw: Yoan=25.0
L*taN=25.7,L*tau=59.6,L*taw=94.7, Yian=4.4, 1au=30.3, ian=88.3, Gay=Ytaw: Ytan=20.2
Regularity index according to ISO/IEC 15775:2022, annex G for 5 and 9 steps

g* = 100 PAL* min] / [AL* max], L* TuBsrGB,w = 100 [Y/Yn][1/IN(A0)] with Y >= 0,3,Y,=100

0autYoref

9*5: 99, g%y= 99 9%= 94, g¥%y= 91 g*5= 9_8, g'y= 98
L* russrGB,Wntended output real output linearized output
1000 n0.i L*0a L*Or YOa YOr ;L*a AlL*a L*r Yta (L*tr) 1103 *a Al*la
()9 95 1.0 90 10} 947 1.0 883 10 94.7
; 8.8 85
8 865 0.875 717 0.788 85.9 0.872 705  0.876 86.2
: . 8.6
75 7 775 075 557 0603 77.1 0.745 549  0.752 77.6
T : . 8.6
6 685 0625 41.9 0443 683 0.617 416  0.627 69.0
3 8.7 8.6
@5 596 05 303 0309 59.6 0.491 30.3 0.503 60.4
: 8.7 8.6
50+ @4 506 0375 208 0199 50.9 0.365 21.1  0.377 51.7
: . 8.7
@: 46 025 133 0112 422 024 137 0252 43.1
1 8.4 8.7
@2 326 0125 76 0046 338 0.117 8.2 0.126 34.4
251 3 8.1 8.7
@: 236 00 36 00 257 00 44 0.0 25.7
0+ :
AL*0:=9.0 (=1,2,...,8) | normalisation: Yiaiu=Yoay J0ait Yoref

iea61-3n



